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QUESTION 1

When cabling a given HX node to the Fabric Interconnect which three actions are required? (Choose three.)
A. Connect the node to different port numbers on each of the two Fabric Interconnects.

B. Connect port 1 on the VIC to Fabric Interconnect A.

C. Connect server port L1 to Fabric Interconnect port L1.

D. Connect the node to the same port number on each of the two Fabric Interconnects.

E. Connect server port L2 to Fabric Interconnect port L2

F. Connect port 2 on the VIC to Interconnect B.

Correct Answer: BDF

QUESTION 2

HyperFlex is tightly integrated Into the Cisco portfolio, allowing which two powerful service integrations\\\\' (Choose
two)

A. Cloud mobility: CloudCenter enables workload mobility between HyperFlex and public and private clouds, Including
private cloud self-service Infrastructure as a service (laaS) capabilities

B. Application centric infrastructure: ACI enables faster deployment via End-Point Group integration of the HyperFlex
clusters into existing application environments

C. Multi-cloud integration Workloads are able to seamlessly migrate to platforms such as Amazon Web Services:
Microsoft Azure and Google Cloud Platform

D. On-premise container platform: Cisco Container Platform automates repetitive tasks, such as installing Kubernetes
and Docker, installing analytics tools, creating clusters, load balancing, curatmg the OS. and even updating the
distribution

E. Data Center Network Monitor: This management platform enables administrators to monitor storage In the HyperFlex
solution and provide real-time storage performance for the HyperFlex cluster

Correct Answer: AD

QUESTION 3
Which two results are expected when you replace a node or expand a cluster? (Choose two.)

A. Distributed pooled data is migrated off nodes to master data store.

700-905 VCE Dumps | 700-905 Study Guide | 700-905 Exam Questions 2/4


https://www.geekcert.com/700-905.html
https://www.geekcert.com/700-905.html
https://www.geekcert.com/700-905.html

VCE & PDF https://lwww.geekcert.com/700-905.html
2024 Latest geekcert 700-905 PDF and VCE dumps Download

GeekCert.com

B. Affected node is marked as unhealthy and placed into standby mode

C. vSphere DRS migrates the virtual machines to the new node to balance the load
D. On node replace, the self-healing must finish for the cluster to be healthy

E. The cluster profile is updated and RAID takes care of rebalancing the load.

Correct Answer: CD

QUESTION 4

Which two processes does Disk Failure initiate? (Choose two)

A. The affected cluster is marked as unhealthy and placed into standby mode

B. If the replication factor is sufficient for the failure, the system is marked as unhealthy but remains operational
C. Distributed pooled data is migrated off nodes to master data store.

D. Performance is almost unaffected Sets 1-minute timer until self-healing starts.

E. Self-healing mode is initiated and data replication factors applied.

Correct Answer: BD

QUESTION 5
Which three capabilities are provided by Virtual Interface Cards\\'? (Choose three.)
A. Virtualizing object storage environments by pushing meta data directly to the management server

B. The virtual interfaces created by a VIC do not accommodate hypervisor communication like VMkernel interfaces on
vSphere.

C. Management through Cisco IMC or UCS Manager with dynamic configuration of virtual interface cards based on the
server profile (MAC/WWN).

D. Traffic processing for internal and external communication supporting simultaneous HBA and NIC operation on the
same physical hardware.

E. Multiple-interface-card virtualization without any additional driver requirements with integration of the virtualized cards
into the Fabric Interconnect infrastructure.

F. A virtual environment, such as VMware vSphere, provides VM connectivity via a virtual switch to individual virtual
machines bypassing local hardware requests.

Correct Answer: CDE
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